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GED) HEMBEERUVRTEFEHERSE §ER - SM6EI1H2A
(bTHkh) \FmE NFHAFARATHT 7 B 4
INFHRRERMEAEH

rEmmRtE FHAE—
& 5% B : SfM6F11/8228
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, ARmFER - HF6FE11825H
T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
XiE L a5 10]  #@xt 30, 000 1,080 864 648  # 20, 000
FREE a5 10, #Ext 6, 000 864 648 432 # 5, 000
AS a5 10]  #Ext 20, 000 1,944 1,620 324 # 20, 000
THIES M = 4, x>t 68, 000 1,512 108] O# 80, 000
=E2 a5 10]  #Ext 3,000 756 432 # 1,000
=E2 R 10, #@xt 5, 000 1,296 1,080 # 4,000
7K R 0.2 #Ext 1,000 86 # 1,200
INRER = 0.2 #Ext 500 108 76 54 # 600
INAEE R 0.2 #Ext 2,000 86 # 2,500
FrRy FE 10| #@xt 11,000 2, 700 # 8, 000
F5NAE & 0.2 #Ext 800 162 108 65| # 800
pod B 5, +Y 9,610 1,944 1,620 1,404  # 12, 000
= =1 5| £= 8,000 1,620 H 8, 000
=3 L AR, FKiH 0.1 #xt 1,000 86 # 1,000
Joyvaly— AL12E & 5 A% 100 1,080 A 100
JOoyal— AL R & 8 fBxt 400 2,592 # 400
Joyvaly— AL BE, BE 5 tAxt 2,500 1,296 # 2,500
L& R P31 10 #8xt 2,000 3, 240 # 2,000
FUF YA R 0.2 #Ext 400 108 # 500
#MI AS b 5| U 100 2,592 2,376 2,160, A 200
#I AS a5 b E=#H 1,500 2, 808 A 1,500
¥ B, S50 0.3 #xt 1,200 238 # 1,200
=< b ks 4 +) 400 3, 780 2,160 1,080 # 400
HEE B3 5 3,000 1, 404 H 2, 000
EHE ibiEE 10, #Axt 5,000 1,512 # 5, 000
EE A4L, A3L a5 100 +Y 4,000 4, 644 1,620 O 10, 000
THEF A4L. A3L |FFE 120 +Y 8, 400 3, 780 540\  # 24,000
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GED) HEMBEERUVRTEFEHERSE §ER - SM6EI1H2A
(hTH) N\FHE NFHAFARATHT 7 B 4
INFHRRERMEAEH
rEmmRtE FHAE—
#H 5E B : SF6&FE11822H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, ARmFER - HF6FE11825H
T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
EHE dbiEE 20  +Axt 15, 000 3, 456 @) 10, 000
[CAI=K b 11 Y 5, 000 2,160 540  # 5, 000
EHE =2F 0.1 #Ext 3,300 86 # 3, 900
JF4A2 A . =iH 0.1 #Ext 1,800 130 # 1,000
JFHIAL A E¥%. = 0.1 = 40 119 # 30
HEAE 233, 830




